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SECTION A: COMPULSORY QUESTION

Question 1

a) Consider the data given in the table below.

Heights in cm Number of patients
100 -104 12

105 - 109 15

110-114 3

115-119 11

120 - 124 9

Total 50

Determine and interpret the coefficient of variation (6 marks)

b) Consider the following contingency tab

Boys
Drinking 60
Not Drinking 20
Total 80

Test the hypothesis th (7 marks)

c) Thefo i tomy and scores (Y) in Physiology of 10

90 65 75 39 41
86 58 60 47 51

Find the rank correlat ici (6 marks)

d) Systolic blood pressure:of 100 males was taken. Mean blood pressure was found to be 128 mm
of mercury (Hg) and standard deviation of 13 mm of mercury. Find the 95% confidence limits
of blood pressure within which the population mean would lie. (6 marks)
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SECTION B: ANSWER ANY THREE (3) QUESTIONS
Question 2

The following table gives the heights and weights of 12 patients chosen at random from a certain
health facility.

Height X | 168 | 150 | 174 | 144 | 158 | 168 |177 |156 | 150 | 161 | 156 | 163

in cm.
WeightY |77 |75 |90 67 78 84 89 80 66 73 69 76
in Kg.

a) Calculate the Pearson’s coefficient of coffelation between the two variablesiand interpret the

result. (8 marks)
b) Calculate the determination coeffigient and interpret the finding. (4 marks)
c) Find the best regression line that'can be used to'predict the weight of a patient when we know
his height, that is Y=a + b X (8 marks)
d) Estimate or predict the weight of a‘patient whose heightis 150 cm. (5 marks)
Question 3

a) A certain drug is claimed,tobe effective m curing flu. In,an experiment of 164 persons, a half
of them were given the'drug and-a half were given sugar pills. The patient reaction to the
treatmentbis as follows. Of the patients'on test drug, 52 were cured, 10 got worse and 20 showed
no change. Ofithe patients whowere on sugarpills, 44 were cured, 12 got worse and 26 showed
no change.

i.  Construct@a2 x 3 table of the resultsfor the patients on different treatments. (6 marks)
ii.  Test the hypothesiS that the test'drug is no better than the sugar pill for curing flu. (11 marks)

b) Explain the properties,of a binomial distribution. (8 marks)

Question 4

a) Discuss the use of statistical methods in clinical trials giving relevant examples. (9 marks)

b) In a study of the effect of diet on low-density lipoprotein cholesterol, Rassias et al used, as
subjects 12 mildly hypercholesterolemic men and women. The plasma cholesterol levels (mmol/l)

of the subjects were as follows: 6.0, 6.4, 7.0, 5.8, 6.0, 5.8, 5.9, 6.7, 6.1, 6.5, 6.3, 5.8. Let us assume
that these 12 subjects behave as a simple random sample of subjects from a normally distributed
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population of similar subjects. We wish to estimate, from the data of this sample, the variance of
the plasma cholesterol levels in the population with a 95 percent confidence interval. (16 marks)

Question 5
a) If 30% of the patients who are exposed to HIVV/AIDS become infected, suppose we select 5
patients from this population. Estimate the probability that;
i.  None will become infected
ii.  One patient will become infected
iii.  More than 4 patients will become infected
Iv. At least three patients will be infected (16 marks)

c) Explain how you can apply t-tests in research. (9 marks)

Question 6

Before 81.7 |895 |782

62.7 |69.0 |639

(15 marks)

to determine the sample size in research. (10 marks)
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